Chapter 9 A
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16.
p =  Total number of defects from all samples ( (Number of samples x sample
            size)

            =  

 = 75/1500=0.05

            Sp=

 where n = sample size (100)

            = 

 + 0.0218

           UCL = p + 2.17 Sp = 0.05 + 2.18(0.02) = 0.0973

           LCL =  p  - 2.17 Sp = 0.05 – 2.18(0.02) = 0.0027


Plotting the fraction defectives within the control limits you determine, you’ll notice point #5 is above or outside the upper control limit and point #9 is below or outside the lower control limit.

17.      From Ex. 9A.9 on page 344 of the text, c=1, n=71.


AQL=0.005, LTPD=0.05, beta=0.010, alpha=0.005


0.05/0.005=10    C=1


0.355/0.005=71

18. p-bar = 540/(20 x 500) = 540/10000 = 0.054

            Sp=

   = Square root of [0.054(1-0.054/500)] = 0.010 


UCL = 0.054 + 2.58(0.010) = 0.080

           
LCL = 0.054 – 2.58(0.010) = 0.028
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